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��������� ABC ���
 AB, BC, AC �����
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�����

AC + BC > AB � |AC − BC| < AB.
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|PA − PB|;
����	����

AB.

+��� PAB ���������

|PA − PB| < AB,
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� < ���	����

1.2 ����������������
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���	

�� 1 ���	�	

A

B

C

M

N

132◦12◦

� BM � CN ���� ABC �-�
����� BM = CN�

����� ∠CBM = 180◦−12◦
2 = 84◦� ∠BCM = 180◦ − 132◦ =

48◦�	�

∠BMC = 180◦ − 84◦ − 48◦ = 48◦,
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����� BMC ��
����� BM = BC�

�� ∠ACN = 180◦−132◦
2 = 24◦� ∠BAC = 180◦ − 132◦ − 12◦ =

36◦�	�

∠BNC = 36◦ − 24◦ = 12◦,

����� BNC ��
����� BC = CN�



�
 BM = BC = CN� �

�� 1 ��	�	

A

B

M

C

N

D

P

�.�/�� ABCD ���� AC � BD 0����1�2


P ��� N � CD 	�MN �� P ��1� AB ������

CN = DN�

1.3 ��
�

�� 2 ���

A B

b a

�*����$������
�
�		�� A, a, B, b �/�

(�����������$��������������
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	 ������A, a, B, b ���

a + A = b + B.


 ������A, a, B, b ���

A

a
=

B

b
.

� ������A, a, B, b ���

A − a = B − b.


 ������A, a, B, b ���

aA = bB.

���3����
����


�� p � q �������

�$��


�� r � s ��������

A = pr, a = qs, B = qr, b = ps.

	 +���

qs + pr = ps + qr ⇒ q(s − r) = p(s − r)

⇒ (p − q)(s − r) = 0

⇒ p − q = 0 � s − r = 0

⇒ p = q � s = r.

������$���
����	����

a + A = b + B


��


 +���

pr

qs
=

qr

ps
⇒ q2 = p2

⇒ (q + p)(q − p) = 0

⇒ q = p.
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A

a
=

B

b
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pr − qs = qr − ps ⇒ p(s + r) = q(s + r)

⇒ p = q.
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A − a = B − b


��


 +���

qs · pr = ps · qr ⇒ 1 = 1.

�������$�������

aA = bB
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�4������ w  �������5�6�


�
�4��
�� a � b  ��+�����

w ≤ a, w ≤ b, w =
√

ab.

	 �� w < a�� w2 < ab�� w <
√

ab�� w =
√

ab 7��


 �� w < b�� w2 < ab�� w <
√

ab�� w =
√

ab 7��

�� w = a, w = b�����5�6�
�
�4������
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a =
a1 + a2 + a3 + a4

4
.

a
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a2

a3 a4
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1.5 ����

	�����

4 = n2 − (n + 1)2 − (n + 2)2 + (n + 3)2

����
�	��*�������������	���


������

�� 4 ���	�

1 =12;

2 = − 12 − 22 − 32 + 42;

3 = − 12 + 22;

4 = − 12 − 22 + 32;

5 =12 + 22 − 32 − 42 + 52,

�
� 1, 2, 3, 4, 5 ����

 12, 22, 32, · · · �	�����8�

�,�������������

�#���
����	
���������
����

��	�����

����*���

4 = n2 − (n + 1)2 − (n + 2)2 + (n + 3)2

����	$��
�������

6 = 2 + 4

= −12 − 22 − 32 + 42 +
(
52 − 62 − 72 + 82)

= −12 − 22 − 32 + 42 + 52 − 62 − 72 + 82;

	
������

9 = 5 + 4

= 12 + 22 − 32 − 42 + 52 +
(
62 − 72 − 82 + 92)

= 12 + 22 − 32 − 42 + 52 + 62 − 72 − 82 + 92.
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9 = 1 + 4 + 4

= 12 +
(
22 − 32 − 42 + 52) +

(
62 − 72 − 82 + 92)

= 12 + 22 − 32 − 42 + 52 + 62 − 72 − 82 + 92.
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√

2 �����

����	�������,���
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√

2 �

����������������������"�����

��
3

5
=

6

10
=

9

15
= · · · ,

��
>�(����=�����1
>�(������


��
>0������
√

2������"�	������	

����3 √
2 =

q

p
,

�� p, q �0���
������,�


2 =
q2

p2 ⇒ 2p2 = q2.
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�
���� 2|q�3 q = 2r�?��


2p2 = (2r)2 ⇒ 2r2 = p2.

"��� 2|p�

�� 2 � p � q �@����� p, q 0�7������
√

2

����
������
√

2 �����

����3 √
2 =

q

p
,

�� p, q ��
��1 q
p �
> p ��(������� 1 <√

2 < 2�	� 1 < q
p < 2��

p < q < 2p.

+
√

2 =
q

p
⇒ 2p2 = q2

⇒ 2(q − p)2 = (q − 2p)2

⇒
√

2 =
2p − q

q − p
��� p < q < 2p�.

����
√

2 = 2p−q
q−p
��
> q − p ��

q − p < p��� q < 2p�.

	�
√

2 = q
p �����
> p ��(�7������

√
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2 �
��!3
√

2 = q
p
��

�����
 1, 1,
√

2 = q
p ��
������� p ���
�

��
���
� p, p, q ��
����� AB1C1����	�

�	

1

1

√
2 = q

p ��� p �

p

p

q

A
B1

C1

��� C1 ����C1B1 �)�����2�� C1A 
 B2��

B2 ���B�� AB1 �2
 C2�

A
B1

C1

B2

C2

��� AB2C2 ������	

	 �� ∠A = 45◦�C2B2 � AC1 ���	���� AB2C2 �

�
������∠AB2C2 ����1 ∠B2AC2 = ∠B2C2A =

45◦�


 �� B2A = C1A−C1B2 = q − p�B2A = B2C2 = B1C2�	�

B1C2 = B2C2 = B2A = q − p ���
��

� �� AC2 = AB1 −B1C2 = p− (q − p) = 2p− q�	� AC2 �

��
��
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	��� AB2C2 �����
���
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������������ AC2 C��� AB1C1 ��� AC1 	
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AB3C3, AB4C4, AB5C5, · · · ,

�1��

AC1 > AC2 > AC3 > AC4 > · · · .
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�� 6 ��� 36◦, 72◦, 72◦ �.���
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